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TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
JERRH R X 1 71, 030, 562
HEELT = 1 213, 245
BEARRE AT = 1 213,245 | BRI (L) R+ 270 m3
4. omPh Lk
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
FEHA O-27) 1 X
+1 850, 000m3ATH ;
AR B T = 1 26, 357, 254
PR IR 2 ELER T = 1 194, 799 | 22 EHLER 20 m2
(ARGUA D)
ImEA T EAbA100m2d 72 0 A& 26. 47t/100m
2 A MRECH Rk Tvay
L TE AL 9 m2

CRESEHTA)
ImZ 8z 2mPA T [E{bdr100m2d7- v £ & 26.
0t/100m2 tA/bRIEH kLA Jvay

E#E T = 1 25, 580, 800 | A7) —F#k 35 i
TV NRECH kA A~ B 1600mm e S
FTxE) 12.Tm B () 10.4m;

A7) —FRER 18 HH
TV NRECH kA A~ B 1600mm e S
FTxE) 12.Tm B (i) 11.2m;

A7) —FRER 2 L
TV NRECH ik EH A~ B 1600mm e S
FIZE) 12.Tm ES (htE) 11.9m;

E#E T = 1 490,017 | EIRAWLER 37 m3
(ARYLAA)
WRIEE 2m<L=5m fi THAL 1000m3A A/}
REEH Rk~ 7) BN E260kg/m3 ;

IR G A 20 m3

-1- Etzzm@E SN R




;
T
iy
=
I

TH4 | BEARD 75 WWEHMXGRN TE
TEHEX Sy - THE - R B {7 % & # il pall 2! R
GRESEST A1)
WRIEE 2m<L=5m fi THAL 1000m3A A/}
REEH Bk EH A~ 7) BINE200kg/m3 ;
P ALER T = 91,638 |FfHiA (-2) 1 =
+Hw 550, 000m3 AT ;
e 1 =
HEHLO-2)
b 1 =X
T CEHR - ERIRY LETe) ;
EEET 2 9, 652, 681
e+ T 2 286,521 |FEHRD 1 X
+4)
HEL 1 2V
HmEE 1 =K
T FTHERE T (&4 BT =X 4,453,760 | 1 HEkE 64 m3
Im% 48 X 2mAw 18-8-40 (F&JF)
ST FT R 1T 2 4,912,400 |2v))-p 123 m3
A b 7o UERE HEREO YR X 3.6m 1
8-8-40 (= JF)
A 1 X
— R
25 1 =
BER Yy MLEE
-7 my)FE (3R T = 7,315, 155
e+ T 2 148, 758 | FRHE Y (EHI) 1 X
+4)
i 1 X
+4)
HEL 1 2V
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
b S S 1 =
-2 - E A28 SuN 7 A
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(D
0 Cabl- EHIRY £5Te) ;

T wb AT 1 X
BN
0 Cadl- EHIRY £5T) ;

VAR VARV RN EVZA I VAR PYZ ) = 1 3,396,981 |av))=}7" ny) HplE 8 m

18-8-40 (F4F) JEME127cm 18 X 30cm ;

K7™ vy ) F 48 m2
#£1000 ;

JA - B3Rz 7) =] 42 m3
18-8-40 (B JF) ;

JIA - BEARE () 11 m3
BE)Tyvr7s RC40 |

Ky —p 8 m
18-8-25(20) (Fi47) t=10cm ;

NI 1 AT
18-8-40 (&4F) 1H30cm ;

1E7Kav )=} 8 m
18-8-25 (20) (#i47) t=10cm ;

VIR VARV RN EVZA I VAR PYZ ) = 1 2, 117,116 | 2/))=}7" ny ) Fffs 6 m

18-8-40 (/& 47) JEME110cm & X 30cm ;

K7™ vy ) F 33 m2
#2850 ;

JA - B3Rz —| 24 m3
18-8-40 (B ) ;

JIA - BEARE () 7 m3
BE)Tyvr7s RC40 ;

Ky —p 6 m
18-8-25(20) (Fi47) t=10cm ;

NI 1 AT
18-8-40 (&47) 1H30cm ;

1EAKav )=} 6 m

18-8-25(20) (F}7) t=10cm ;
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VIR VAR YR N EVZA I VAR PYZ ) = 1 827,510 |av))=p7" ny ) Fapf 4 m
18-8-40 (F4F) JEME94em 5 X 30cm ;
KIALT™ ny ) F 15 m2
#8700 ;
JA - A7) =] 9 m3
18-8-40 (B JF) ;
JIA - BEARE () 3 m3
BE)Tyvr7s RC40 |
Ky —p 4 m
18-8-25(20) (i47) t=10cm ;
N =RISEVZIE 1 &30
18-8-40 (&4F) 1H30cm ;
1E7Kav )=} 4 m
18-8-25 (20) (i47) t=10cm ;
VAR VARV RN EVZA I VAR PYZ ) = 1 824,790 |av))=p7" ny ) Fapf 4 m
18-8-40 (& 4F) JEME94em 5 X 30cm ;
K7™ vy ) F 15 m2
#8700 ;
JA - B3Rz 7) =] 9 m3
18-8-40 (B JF) ;
JIA - BEARE () 3 m3
BE)Tyvr7s RC40 ;
Ky —p 4 m
18-8-25(20) (Fi47) t=10cm ;
N =RISEVZIE 1 &30
18-8-40 (&4F) 1H30cm ;
1EAKav )=} 4 m
18-8-25 (20) (i47) t=10cm ;
A =p T 2 1 19, 302, 224
e+ T 2 1 1,592,924 |FRIEY 1 X
+4)
HEL 1 2V
J O 1 =X
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THX4y - LfE - B % & # il pall 2 R
FEHIA (=27) 1 =«
+H 850, 000m3ATH ;
b 1 E2
()
+wp CEHR - ERIRY LET) ;
b 1 E2
(A
T CEHR - ERIRY LETe) ;
LTI T (s HAT) 2y 17,709, 300 | 211 m3
IR 7. 1m PN 4m 24-12-25(20) (EIF)
BE% 8 t
SD345 D13 ;
BE% 15 t
SD345 D16~25 ;
BE% 15 t
SD345 D29~32 ;
PekigiEy T 2y 6,470, 123
fE¥+T £y 2,405,723 | FRHE Y 1 E2
+H
WRL 1 X
FEEEE 1 2V
FEHIA (=27) 1 =«
+H 850, 000m3ATH ;
b 1 E2
()
+wp CEHR - ERIRY LET) ;
b 1 E2
(A
b CEHR - ERIRY LET) ;
FIRT X 3,705,000 |EERE 100 m
D600 ;
Al T = 359,400 |HLHHT HHEKM 1 i T

B FIA 18-8-40 (E4F) 1200 X 1500 X 1400 ;
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TEHX4y « Tfd - FER B Az £ & #A i R
ES 1 HH
1200 X 15004 t=6. Omm FEEHHEE 255E) (455 W
MEE) /)

A = 1,719, 880

VEZEY-1 i T Y 315,880 |{E¥EY-M 1 =

A ERE E T = 1,404, 000 | AC i@ 20 5 1 =
[ERAE Xy = 71, 030, 562
HiE 2 = 18, 522, 100
BISTIGE: = 10, 404, 100

TE R = 9,501, 000 | B FR AR Sy A T 5 B 1 =

HeffrE sy = 158, 100 | 8 B fiti i FeAST —FVERK 2 1 =

AT e AvA HERER 1 F2V

B+ R 1 2V
BGRESGESE (5 L) = 745, 000
B (FEHL) = 8, 118, 000
T = 89, 552, 662
Bl gy = 30, 915, 000
T =5l = 120, 467, 662
— R A = 20, 142, 338
TS = 140, 610, 000
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